2021 (R 3) & FHEHEYMTEEEYH (L4120 BER)

[AM] (Wb FiE)  [2H) (Bt : F)
B | BERE | BRE :;i f[gz W | BERE | RBE Eﬁ F[gz
1 |1E2i EER 2,873 1 1 SLWEEHHL | BER 4, 561 1
2 | BEXH RBEARIR 2,619] 2 2 KB4t KB FF 3, 491 2
3 | EEPR mER 2,539] 3 3 A FER 3, 451 5
4 |ERBDR |ERBER | 2,394 4 4 BE IR | 3,434 4
5 |REXI BXER 2,255 6 5 HriahR HaR 3,395 | 3
6 |/\tEm ERR 2,228 5 6 AE) MR ] 3,212 10
7 |mwne |=eR | 200 7 7 |kmemx  |mEe | 320 6
8 |xom |xsm | 2085 8 8 |Emex |EBR | 3102] 7
9 |REAAFR RERIR 1,935 10 9 AN 3 FA[IIE 3 3,170 11
10 |1E2E EER 1,916 9 10 |HR REREE 3,136 | 8
11 |dehiihr | EER 1,698 | 12 11 £RPR AR 3,135 9
12 | WS 1EE R 1,663 11 12 | =8¢ EER 3,015 14
13 | REH mER 1,647 13 13 | EERE R | 2,964 13
14 | BEAXE ERR 1,614 15 14 | A& TR 2,946 | 18
15 | KXok KR 1,583 14 15 |HES REH 2,946 | 16
16 | Rt RIGR 1,560 | 17 16 | &K KB FF 2,914 12
17 | 8RiR 2R 1,559 | 16 17 |&2d ema 2,873] 15
18 |mmbe |mmm | 1538] 18 || 18 |2= FER | 2776 *
19 | "% aER 1,520 19 19 | EWm EWR 2,775 =
20 | A% mER 1,420 20 20 |28 BRED 2,754 | =*
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